
ASTH
Hydraulic Tubular Chisel Plow





3

Parts Catalog

ASTH02122A (Revised: 2022/07)

	� Index
ASTH...................................................................................................................................... 	 4
Complete Depth Wheel........................................................................................................ 	 5
Complete Subsoiler Shank................................................................................................... 	 5
Stickers.................................................................................................................................. 	 6



ASTH02122A 4

Parts Catalog

•	ASTH

*Items 1,2 and 3 - See page 5

Ite
m Code Product description Al
l

AS
TH

 03
 Sh

an
ks

AS
TH

 05
 Sh

an
ks

AS
TH

 07
 Sh

an
ks

AS
TH

 09
 Sh

an
ks

AS
TH

 11
 Sh

an
ks

*1 5326010009-9 Complete Subsoiler Shank 3 5 7 9 11
*2 5498010354-7 Complete Right Depth Wheel 1
*3 5498010355-5 Complete Left Depth Wheel 1
4 6020310595-1 French Head Pin Ø1” X 105mm 1
5 6020010414-8 Pressure Washer 3/4" Media Industry 4
6 6020310660-5 French Head Pin Ø28 X 105mm 2
7 5024010088-3 Smooth Washer Ø30 X Ø66,5 X 4,75Mm(Galvanised) 2
8 6020390308-4 Lock Nma - Type "R" Ø4,5 X 80Mm 4
9 6020310770-9 Hexagonal Nut 3/4" 10F Unc Gr5 Ch.1.7/32" Height 18,50Mm 4

10 5022030023-1 Complete Gang Asth-03 Shank 1
10 5022030024-0 Complete Gang Asth-05 Shank 1
10 5022030025-8 Complete Gang Asth-07 Shank 1
10 5022030026-6 Complete Gang Asth-09 Shank 1
10 5022030027-4 Complete Gang Asth-11 Shank 1
11 6020311096-3 Hexagonal Head Bolt 3/4" X 2.1/2" 10F Unc1A Gr5 Rp 4
12 5530130031-9 Support 1
13 6020311053-0 Hexagonal Head Bolt 1/2" X 1.3/4" 12F W Gr2 Rp 2
14 5024010068-9 Smooth Washer Ø13,3 X Ø35,5 X 3,00Mm 4
15 5352070007-9 Depth Wheel Scraper 2
16 6020010410-5 Pressure Washer 1/2" Media Industry 2
17 6020310754-7 Hexagonal Nut 1/2" 12F W Gr5 Ch.7/8" Height 12,00Mm 2



ASTH02122A 5

Parts Catalog

•	Complete Depth Wheel

•	Complete Subsoiler Shank

Ite
m Code Product description Al
l

1 5326010008-0 Subsoiler Shank 1
2 5054010003-6 Sweep Of Subsoiler Shank (76 X 11Mm) 1
3 5530070007-0 Subsoiler Shank Support 1
4 6010600823-2 Union Plate Of Support 1
5 5432010203-3 Flat Pin Ø14,28 X 90Mm 1
6 6020010410-5 Pressure Washer 1/2" Media Industry 3
7 6020050104-0 Cotterpin 3/16" X 1" 2
8 6020310232-4 Plow Screw Type A3 1/2" X 1.3/4" 12F Gr2 Rp 3
9 6020310456-4 Self-Locking Nut With  Nylon Upper 7/8" 9F Unc Gr5 Ch.1.5/16" H.25,00Mm 1

10 6020311120-0 Hexagonal Head Bolt 7/8" X 4.1/2" 9F Unc1A Gr5 Rp 1
11 6020310754-7 Hexagonal Nut 1/2" 12F W Gr5 Ch.7/8" Height 12,00Mm 3
12 6020310770-9 Hexagonal Nut 3/4" 10F Unc Gr5 Ch.1.7/32" Height 18,50Mm 5
13 6020311109-9 Hexagonal Head Bolt 3/4" X 7.1/2" 10F Unc1A Gr5 Rp 5
14 6020010414-8 Pressure Washer 3/4" Media Industry 5

Ite
m Code Product description Al
l

Ri
gh

t

Le
ft

1 5530016680-5 Wheel Right Support 1
2 5530016681-3 Wheel Left Support 1
3 6020010406-7 Pressure Washer 3/8" Media Industry 1
4 5558080010-5 Lock W/Large Hole 1
5 5498010289-3 Spare Depth Control Wheel 1
6 6020350022-2 Sphere Bearing 6207-Z 2
7 5558080009-1 Lock W/Small Hole 1
8 6020130100-1 Grease Fitting 1/4" 1
9 6020310026-7 Hexagonal Head Bolt 3/8" X 1.1/4" 16F Unc1A Gr5 Rt 1



ASTH02122A 6

Parts Catalog

•	Stickers

Ite
m Code Product description Al
l

1 6020070886-8 Sticker Lubricate And Retighten (58 X 195Mm) 1
2 6020071020-0 Sticker For Asth Baldan 2

Item 1

Item 2






	Stickers
	Complete Subsoiler Shank
	Complete Depth Wheel
	ASTH

